——
=3\

114

OBC

Oskoyi Ballbeari

ng Company

T
L
W2 W1
UiS a5 Assembly (mm) BR block (mm) BR rail (mm) ey
Ho| w | w2 | E L Bx) | MQ< | L1 |Oilhole| T1 | (N) | W1 | H1 | F dxDxh | JUs  logs
BRCISRO | 28 | 34 | 95 | 46 | 66 [26x26| M4ax6 | 40 | @3 |83 | 5 | 15 | 14 | 60 |4.5x7.5%5.8
BRDI5RO | 28 | 34 | 95 | 46 | 56 |26x26| M4ax6 | 40 | Méxl [83 | 5 | 15 | 14 | 60 |4.5x7.5%5.8
BRC20RO | 30 | 44 | 12 | 5 | 77.8 [32x36| M5x8 |488 | Méxl | 7 | 156 | 20 | 18 | 60 | 6x9.5x9.0
BRD20RO | 30 | 44 | 12 | 5 | 67.8 |32x36| M5x8 |488 | Méxl | 7 |156 | 20 | 18 | 60 | 6x9.5x9.0
BRC20LR | 30 | 44 | 12 | 5 | 924 |32x50| M5x8 |63.4 | Méxl | 7 | 156 | 20 | 18 | 60 | 6x9.5x9.0
BRD20LR | 30 | 44 | 12 | 5 | 824 [32x50| MS5x8 |634 | Méxl | 7 | 156 | 20 | 18 | 60 | 6x9.5x9.0
BRC25RO | 40 | 48 | 125 | 7 | 88 [35x35| M6x10 | 57 | Méx1 |11.8| 156 | 23 | 22 | 60 | 7x11x9.5
BRD25RO | 40 | 48 | 125 | 7 | 78 |35x35| M6x10 | 57 | Méxl [11.8| 156 | 23 | 22 | 60 | 7x11x9.5
BRC25LR | 40 | 48 | 125 | 7 | 1101 |35x50 | M6x10 |79.1 | Méxl [11.8| 156 | 23 | 22 | 60 | 7x11x9.5
BRD25LR | 40 | 48 | 125 | 7 | 100.1 |35x50 | Mex10 | 79.1 | Méxl |11.8 | 15.6 | 23 | 22 | 60 | 7x11x9.5
BRC30RO | 45 | 60 | 16 | 9 | 109 |40x40| M8x13 | 72 | Méxl | 10 | 156 | 28 | 26 | 80 | 9x14x12.5
BRD3ORO | 45 | 60 | 16 | 9 | 99 |40x40| M8x13 | 72 | Méxl | 10 | 156 | 28 | 26 | 80 | 9x14x125
BRC3OLR | 45 | 60 | 16 | 9 | 1313 |40x60 | M8x13 |94.3 | M6x1 | 10 | 156 | 28 | 26 | 80 | 9x14x12.5
BRD3OLR | 45 | 60 | 16 | 9 | 121.3 |40x60 | M8x13 |94.3 | Méx1 | 10 | 156 | 28 | 26 | 80 | 9x14x125
BRD35RO | 55 | 70 | 18 | 95 | 109 |50x50 | M8x13 | 80 | Méxl | 15 | 156 | 34 | 29 | 80 | 9x14x125
BRD35LR | 55 | 70 | 18 | 95 | 134.8 |50x72 | M8x13 [105.8| Méxl | 15 | 156 | 34 | 29 | 80 | 9x14x125
BRD4SRO | 70 | 86 | 205 | 14 | 1382 | 60x60 |M10x16.5| 105 | M8x1 [185| 16 | 45 | 38 | 105 |14x20x17.5
BRD45LR | 70 | 86 | 205 | 14 | 163 | 60x80 |M10x16.5]129.8| Msxl |185| 16 | 45 | 38 | 105 | 14x20x17.5

(021) 33913364 - 33951660

(021) 33985603

s oals o




Oskoyi Ballbearing

Oskoyi Ballbearing Company

BRC-RO/LR , BRD-RO/LR

Mz l\f—MY\J
S &
O ¢ D ©
o o
‘ Lmax _
B L
L1 G
N | |<—>
D
= H N - -
a-Mq | _I'C
: H H |
« ; S5
Ref.Data (mm) Basic L(c:(ag?)Ratmg Statilﬁgl}{lk;rr)lent Weight
U sS
Lmax G C co Mx My Mz Block (kg) Rail (kg/m)
BRC 15R0 4000 20 850 1350 10.1 6.8 6.8 0.19 1.4
BRD 15R0 4000 20 850 1350 10.1 6.8 6.8 0.19 1.4
BRC 20RO 4000 20 1400 2400 24 14.6 14.6 0.31 2.6
BRD 20R0 4000 20 1400 2400 24 14.6 14.6 0.31 2.6
BRC 20LR 4000 20 1650 3000 30 23.8 23.8 0.47 2.6
BRD 20LR 4000 20 1650 3000 30 23.8 23.8 0.47 2.6
BRC 25R0 4000 20 1950 3200 36.8 22.8 22.8 0.45 3.6
BRD 25R0 4000 20 1950 3200 36.8 22.8 22.8 0.45 3.6
BRC 25LR 4000 20 2600 4600 52.9 45.5 45.5 0.56 3.6
BRD 25LR 4000 20 2600 4600 52.9 45.5 45.5 0.56 3.6
BRC 30R0 4000 20 2850 4800 67.2 43.2 43.2 0.91 5.2
BRD 30RO 4000 20 2850 4800 67.2 43.2 43.2 0.91 5.2
BRC 30LR 4000 20 3600 6400 89.6 75.4 75.4 1.2 5.2
BRD 30LR 4000 20 3600 6400 89.6 75.4 75.4 1.2 5.2
BRD 35R0 4000 20 3850 6200 105.4 62 62 1.5 7.2
BRD 35LR 4000 20 4800 8300 141.1 109.8 109.8 1.9 7.2
BRD 45R0 4000 22.5 6500 10500 236.3 137.8 137.8 2.3 12.3
BRD 45LR 4000 22.5 7700 13000 292.5 210.9 210.9 2.8 12.3

D site : www.10BC.com

R4 Email : Borhan772000@yahoo.com




	Page 26
	Page 27

